Chapter 21 Associates

Answer 1
W1
Shareholdings
	
	S Ltd
	A Ltd

	Group
	75%
	30%

	Non-controlling interest
	25%
	-

	
	100%
	


W2
Unrealised profit in inventory
= $1,000 x 25/125 x 1/4 x 30%

= $15

	
	Dr. ($000)
	Cr. ($000)

	Group retained earnings
	15
	

	Investment in associate
	
	15


W3
Impairment of associate

	
	Dr. ($000)
	Cr. ($000)

	Group retained earnings
	35
	

	Investment in associate
	
	35


W4
Goodwill

	Cost of control account

	
	$000
	Fair value of S’s net assets at acquisition
	$000

	Investment in S
	5,000
	Share capital
	1,000

	Fair value of NCI
	1,600
	Retained earnings
	3,000

	
	
	Goodwill (Bal. fig.)
	2,600

	
	6,600
	
	6,600


W5
Non-controlling interest
	Non-controlling interest

	
	$000
	
	$000

	
	
	Fair value of NCI (W4)
	1,600

	Balance c/d
	2,225
	Post-acquisition profit

[25% x (6,500 – 4,000)]
	625

	
	2,225
	
	2,225


W6
Group retained earnings
	Group retained earnings

	
	$000
	
	$000

	Unrealised profit in inventory (W2)
	15
	P
	7,500

	Impairment (W3)
	35
	S [(6,500 – 4,000) x 75%]
	1,875

	Balance c/d
	9,625
	A [(2,500 – 1,500) x 30%]
	300

	
	9,675
	
	9,675


W7
Investment in associate
	Investment in associate

	
	$000
	
	$000

	Cost of investment
	750
	Unrealised profit in inventory (W2)
	15

	Post-acquisition profit

[(2,500 – 1,500) x 30%]
	300
	Impairment (W3)
	35

	
	
	Balance c/d
	1,000

	
	1,050
	
	1,050


Consolidated statement of financial position for P group as at 30 September 2011
	
	
	$000

	Non-current assets
	
	

	Goodwill (W4)
	
	2,600

	Property, plant and equipment (14,000 + 7,500)
	
	21,500

	Investment (10,000 – 5,000 (S) – 750 (A))
	
	4,250

	Investment in associate (W7)
	
	1,000

	
	
	29,350

	Current assets (6,000 + 3,000)
	
	9,000

	Total assets
	
	38,350

	
	
	

	Equity and liabilities
	
	

	Equity
	
	

	Share capital
	
	10,000

	Retained earnings (W6)
	
	9,625

	
	
	19,625

	Non-controlling interest (W5)
	
	2,225

	
	
	21,850

	Non-current liabilities (8,000 + 1,250)
	
	9,250

	Current liabilities (4,500 + 2,750)
	
	7,250

	Total equity and liabilities
	
	38,350


Answer 2
W1
Shareholdings
	
	S Ltd
	A Ltd

	
	3 years
	9 months

	Group
	80%
	30%

	Non-controlling interest
	20%
	-

	
	100%
	


W2
Depreciation adjustment of plant at acquisition date of S

= $50,000 x 3/5

= $30,000

	
	Dr. ($000)
	Cr. ($000)

	Group retained earnings (30 x 80%)
	24
	

	Non-controlling interest (30 x 20%)
	6
	

	Group plant
	
	30


W3
Unrealised profit in inventory – Subsidiary

= $400,000 x 25/125 x 1/4

= $20,000

	
	Dr. ($000)
	Cr. ($000)

	Group retained earnings (20 x 80%)
	16
	

	Non-controlling interest
	4
	

	Group inventory
	
	20


W4
Unrealised profit in inventory – Associate

= $(150,000 – 100,000) x 90/150 x 30%

= $9,000

	
	Dr. ($000)
	Cr. ($000)

	Group retained earnings
	9
	

	Group inventory
	
	9


W5
Current account elimination
	
	Dr. ($000)
	Cr. ($000)

	Group payables
	50
	

	Group receivables
	
	50


W6
Goodwill calculation

	Cost of control account

	
	$000
	Fair value of S’s net assets at acquisition
	$000

	Investment in S

[(80% x 500 x $4.25)
	1,700
	Share capital

Share premium
	500

80

	Fair value of NCI
	368
	Retained earnings
	870

	
	
	Fair value adj. – Plant
	50

	
	
	Goodwill (Bal. fig.)
	568

	
	2,068
	
	6,600


W7
Goodwill

	Goodwill

	
	$000
	
	$000

	Cost of control
	568
	Impairment to group retained earnings
	120

	
	
	NCI (150 x 20%)
	30

	
	
	Balance c/d
	418

	
	568
	
	568


W8
Non-controlling interest

	Non-controlling interest

	
	$000
	
	$000

	Post acq. loss

[20% x (400 – 870)]
	94
	Fair value of NCI (W6)
	368

	Depn. adj. (W2)
	6
	
	

	Unrealised profit (W3)
	4
	
	

	Impairment (W7)
	30
	
	

	Balance c/d
	234
	
	

	
	368
	
	368


W9
Group retained earnings

	Group retained earnings

	
	$000
	
	$000

	Fair value adj. (W2)
	24
	P
	1,145

	Unrealised profit in inventory – S (W3)
	16
	A post acq. profit
[30% x (600 x 9/12)]
	135

	Unrealised profit in inventory – A (W4)
	9
	
	

	Impairment of goodwill – S (W7)
	120
	
	

	Impairment of associate
	15
	
	

	Post-acq. loss

[80% x (870 – 400)]
	376
	
	

	Balance c/d
	720
	
	

	
	1,280
	
	1,280


W10
Investment in associate
	Investment in associate

	
	$000
	
	$000

	Cost of investment

[30% x 250 x 4/3 x $5]
	500
	Impairment (W9)
	15

	A’s post acq. profit

[30% x (600 x 9/12)]
	135
	Balance c/d
	620

	
	635
	
	635


Consolidated statement of financial position for P group as at 30 November 2011

	
	
	$000

	Non-current assets
	
	

	Goodwill (W7)
	
	418

	Property (1,300 + 850)
	
	2,150

	Plant & equipment (450 + 210 + 50 – 30)
	
	680

	Investments (1,825 – 1,700)
	
	125

	Investment in associate (W10)
	
	620

	
	
	3,993

	Current assets
	
	

	Inventory (550 + 230 – 20(W3) – 9(W4)) 
	751
	

	Receivables (300 + 340 – 50)
	590
	

	Cash (120 + 50)
	170
	1,511

	Total assets
	
	5,504

	
	
	

	Equity and liabilities
	
	

	Equity
	
	

	Share capital (1,800 + 100)
	
	1,900

	Share premium (250 + 400)
	
	650

	Retained earnings (W9)
	
	720

	
	
	3,270

	Non-controlling interest (W8)
	
	234

	
	
	3,504

	Non-current liabilities
	
	

	10% loan notes (500 + 300)
	
	800

	
	
	

	Current liabilities
	
	

	Trade payables (520 + 330 – 50)
	
	800

	Income tax (330 + 70)
	
	400

	Total equity and liabilities
	
	5,504
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